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.'.sina=sin[(a—ﬂ)+ﬂ]=sin(a—ﬁ)cosﬂ+cos (@—pB kin g

412 37 5333
513 5 13) 65°

ZHRBAR

PR AR

sin(A+B) = sinAcosB+cosAsinB
sin(A-B) = sinAcosB-cosAsinB
cos(A+B) = cosAcosB-sinAsinB

cos(A-B) = cosAcosB+sinAsinB

tanA + tanB
tan(A+B) = ——————
1-tanAtanB
tanA — tanB
tan(A-B)y=———
1+ tanAtanB
cotAcotB -1
cot(A+B) =—————
cotB + cotA
cotAcotB +1
cot(A-B)y=———
cotB — cotA
& AR
2tanA
tan2A =————
1-tan"A

Sin2 A=2SinA*CosA

Cos2A = Cos?A-Sin?A=2Cos?A-1=1-2sin?A

=EAAR

sin3A = 3sinA-4(sinA)?
2 18 T 3t 24

=l



cos3A = 4(cosA)*-3cosA

T V4
tan3a = tana-tan( E +a)-tan( E -a)

FAAN
A 1—cos 4
sin(— )=
2 2
A \/m
cos(— )= ,[———
2 2
A 1—cos 4
tan(— )=
2 1+ cos4

tan(— )=—— =

2 sin A 1+ cos A4
FazZLR
) . : a—-b
sina+sinb=2sin cos 5
L . a-b
sina-sinb=2cos sin

a+b a-b
COoS
2

b  a-b

Sin

cosa+cosb = 2cos

cosa-cosb = -2sin

sin(a + b)
cosacosb

tana+tanb=

Bz
1

sinasinb = - 5 [cos(atb)-cos(a-b)]

019 T 3t 24

=l



cosacosb = l [cos(atb)+cos(a-b)]
2

sinacosb = l [sin(a+b)+sin(a-b)]
2

cosasinb = % [sin(a+b)-sin(a-b)]

EIFAKX

sin(-a) = -sina

cos(-a) = cosa
in(Z-a)
sin(—-a) = cosa
2
(Za)=si
cos(—-a) =sina
2
. T
sin(—+a) = cosa
2
T .
cos(E—ira) = -sina

sin(7-a) = sina
cos(m-a) = -cosa
sin(m+a) = -sina

cos(m+a) = -cosa

sina

tgA=tanA =
coSa

2‘[ang
sina=
a
1+ (tan—)*
( 2)

1—(tan 9>
cosa= 2
a

1+ (tan—)?

( 2)

20 71 3t 24

=l



2tan ¢
tana= 2
a
1—(tan )’
( ?
HEAKX
assina+becosa=+/(a’ +b?) xsin(a+c) [JL ' tanc= b ]

a
assin(a)-becos(a) = 4/ (a2 + bz) xcos(a-c) [H:H tan(c)=% ]
1+sin(a) =(sin a4 +cos a )?

2 2

1-sin(a) = (sin a -Cos a )
2 2

HidrE R =A R

csc(a) =—
Sma

sec(a) =
cosa

X B8 3

, e’ -¢e™
sinh(a)=

a

e +¢

-a

cosh(a)=

sinh(a)
cosh(a)

tg h(a)=

AR~
By EREA, £ i 10 ) — = o6 SO AR

F 2103k 247



sin (2kn+o) = sina
cos (2kn+a) = cosa
tan (2kn+a) = tana

cot (2kn+a) = cota

7/ v

BaNAER A, mraff) = e 8UE 5 o) = BRBUE Z T8] R 58 52
sin (n+a) =-sina

cos (n+a) =-cosa

tan (n+a) = tana

cot (m+a) =cota

A=

FEEMol o) =M REBUE 8] )R R
sin (-a) = -sino

cos (-a) =cosa

tan (-a) =-tano

cot (-a) =-cota

A

FIH AR A AKX =0T LA Bln-o 5 o) = A R EUE Z R R
sin (n-a) = sina

cos (m-a) =-cosa

tan (m-0) =-tano

cot (m-a) = -cota

22 71 3t 24

=l



AT

FIFH A R-FA R =1 IR B 2n-05 aff) = 1 2R BE 2 18] 195 R
sin (21-a) = -sina

cos (2m-a) = cosa

tan (27-a) = -tana

cot (2m-a) = -cota

NSIWAN
V4 RY/4 . " . .
Eia&Tia‘%aE‘J:ﬁIZ@MEZ@E‘J?Q%:
sin (£+a) = cosa
cos (£+a) = -sina.
2
tan (£+a) = -cota
cot (£+a) = -tana
sin (z-a) = cosa
2
cos (z-a) = sina
tan (Z-a) = cota
cot (Z-a) = tana
2
sin (3—ﬂ+a) =-cosa
cos (3—ﬂ+a) = sina
tan (%Tﬂx) = -cota

T
cot (—+a) =-tana

% 23 T3t 24

=l



RY/4

sin (— -a) = -cosa
V/a .

cos (— -0) =-sina
T

tan ( 7 -a) = cota

cot ( 3—” -o.) = tana
2

e

o

24 T & 24

=l





